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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document".

[ZML Document]
<Infinished =zmlns="urn:=zmlmaster: TNFINISHED":>
< Item:
<Mlnrkerr ¥mlna=Turn:*xmlimaster MMOREERT
Natne="Jeff Workman"/ >
<Activity =xmlns="urn:=mlmaster:VISIT"
Code="000z ">
<DateTimex>2004-07-01 13 :00</DateTimex
<Job Procedure="Install sir conditioner™
Time="zZ" >
<3tarus>MAITING</ Statuss
<fAotivitys
= TLems-
< Item:>
<llorker Xmwlns="urn: mwlEster: TOREER™ MNatne="Jim
Worker "/ >
<hetivity Hmlns="urn: xmlmwaster:VISIT"
Code="0003 ">
<DateTime>2004-07-01 16:00</DateTime>
<Job Procedure="Clean air conditioner™
Tite="2"/ >
<3tatuss>WMAITING</Statuss
<fActivitys
</ Items
</Unfinished:

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Assume that the processed XML Document has no indents (ignorable white space such as line feeds, tabs, etc.).
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[DOM Procesing]
Create XML using the following method.
Docurent output = createddL( doc, impl ) :
The swariable doo here references the lUocunment 1hstance of the loaded XML DocudneEnt.
The wvariable impl here references the DONImplementation instance.
The DOM parser is namespace avare.
Azswne no executlon errors.

public static Document createlML (| Document doc, DOMInplementation impl |
String nawe = "Jim Worker™;
Dozument output = impl.createDocument [

"urn:xmlmaster:LIST™, "List"™, null):
Elzment root = output.getlDocumentElement () ;

NodeList nl = doc.getElementsBEyvTaghameNS ("urn: xmlmaster : WOREER"™, "Worker™) :
for (int i = 0; i < nl.getlengthi(); i4+4+) {
Element el = [Element)nl.item(i) :
il (ml.ygeLdailiribivbe [ "Nome™) cegquels (ame) ) F
Element elem = output.createElementMI |
Purn:xmlmaster :LISTH, "WisitcList™):
root.appendChild{output. importiNode1el, true)]):
Elewment 22 = (Element]el.getMNextIiblingi) ;
root.appendChildioutput. importhode 122, true)]:
H
i

recurn output:

A. 2004-07-01 16:00 WAITING

B. 2004-07-01 16:00 WAITING

C. C. 2004-07-01 16:00 WAITING
D. D.D. 2004-07-01 16:00 WAITING

Correct Answer: C

QUESTION 2

Select the following DOM (Level 2) methods that can add an attribute node (Attr) to an element node (Element).
(Multiple answers possible. Select two.)

A. appendChild

B. hasAttribute

C. setAttribute

D. setAttributeNode

Correct Answer: CD

QUESTION 3
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Which of the following correctly describes the results of normalizing the following XML Document rec element by
Exclusive XML Canonicalization?

[ZML Document]

<arroot ¥mlns:a="uarn:¥mwlmaster:ia's>

<h:rec xmlns:b="urn:=mlmaster:2">
<h:field />

</hirecs

<fairoots

Correct Answer: B

QUESTION 4

Process the following "XML Document" according to the method shown by "DOM Processing," and output "article”" (by
print method). Select which of the following correctly describes what should be in (1) for "DOM Processing"

[ZML Docunent]
<oconsentrarticled/contents

[DOM Processing)
Process ZEML using the following method.
printXML [ doc )
The vor icble dos here ceflereaces Lhie Docaoenl iostonce ol Lhe lodded XML doc aoenl,

public static wvold printXML | Document doc |
Element content = doc.getDocumentElemeat (] ;
System.out.priatl —————— (11 —————- i

H

A. content.getText()

B. content.getNodeValue()

C. content.getChildNode().getNodeValue()
D. content.getFirstChild().getNodeValue()

Correct Answer: D

QUESTION 5

Push the Exhibit Button to load the referenced "XML Document".
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[ZHML Document]
<TestML>
<record:>
<levelx1</ levels

<datarx100</dataxr
</ record:>

<record>
<levelz2</ levels
<datax250</datar
</ recordsr
</ TescML>

Create an XML Schema Document for "XML Document". The definitions of this XML Schema Document require that the

value of the level element must be singularly unique within the XML Document. Which of the following correctly
describes the XML Schema Document?
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T L <xs:schema xmlns:xs="http:/ www.wd.org/2001/EMLEchema s
«<#=g!element name="TestML" type="testmlType'":>
<Xz :unigue name="levellUnigue'>
<xs:selector xpath="recordflevel" /-
<xs:field xpath="recordflevel" f>
< fxs:unigue
<fHs:element >

<x3:complexType name="testmlType":>
<XS5:Sequence:
<xzielement ref="record" maxOccurs="unbounded” />
</®3:39equence>
</xs:complexTypes

<xs:element name="record" type="recordType" f>
<xz:icomplexType name="recordType":
<X¥S:iSequence:
<xs:element ref="level" />
<xs:element ref="data" />
</¥3:3equence>
</x3:complexTypes>

<x3:element name="level" cype="xs:int" JS>
<xg:element nawme="data” type="xs:int" />
</ xs:schemas>

* F <xs:schema xmlns:xs="http://wvw.wd.org/2001/EML3chemas
<xg:element name="TestML" type="testmlType":>
«<xs:unigue name="levellUnigue':
<x=:selector xpath="record" jf>
<uz:field xpath="level" jf>
< fxs:unigque>
<fxs:element:-

<xs:complexType name="testmlType':
<¥3:Sequence:
<xs:element ref="record” maxOccurs="unbounded” />
</¥3:sequence>
</x3icomplexTypes

<x=:element name="record" type="recordlype" jf>
<xs:conmplexType name="recordType™:>
<XS:SEqUENCER
<xs:ielement ref="level™ />
<xs:element ref="data" />
</ ®¥3:sequences
</uz:icomplexTypes>

<¥s:element name="level"™ type="xs:int" />
<x=:element name="data" type="xs:int"™ />
</®xs:schena>

| Gl o <xs:schema xmlns:xs="htop://www.wd.org/2001/ZMLEchemars
<H=:element name="TestML" type="testmlType" [
<¥s:complexType name="testmlType™:>
<X SEQUENCE:
<xs:ielement ref="record" maxCOccurs="unbounded™ />
</¥3:2eguUEnCE>
</®sz:complexTypes>

<Hs:element name="record" type="recordType'">
“<xs:unigue name="levellnigue"
<xs:selector xpath="level" f>
<xs:field xpath="level" jf>
< fus :unigque>
<fxs:element>

<xs:complexType name="recordType™:>
<XS:iSEqUENCE>
<xs:element ref="level™ />
<xs:element ref="data" />
</ ¥s:sequencer>
</®z:complexTypes

<xs:element name="level™ type="xs:int" />
<w3:element nawe="data" type=Txz:int™ />
</xs:schemas

' D <xs:schema xmlns:xs="http://www.wd.org/2001/XMLSchema ™
<xs:element name="TestML" type="testmlType" f-
<xs:icomplexType name="testmlType>

<XS:Sequence:
<xs:element ref="record" maxOccurs="unbounded" />
</¥s:sequence’>
</us:complexTypes

<x%:element name="record" type="recordType':>
<Hs:unigue name="levellUnigue">
<Hs:selector Hpath="level" jf:
<xs:field xpath="." f>=
< fxs unigque>
<fxs:element >

<xs:complexType name="recordType":>
<XS:iSequence:
<xg:element ref="level” />
<xs:element ref="data' />
</¥5:isequencex
</%s:icomplexTypes

<¥3:element name="level”™ type="xsS:int" /S>

<¥z:element name="data” type="xs:int" />
</ ®=:schemas
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 6

When processing the following "XML Document” according to the method shown by "SAX Processing,"” which of the
following correctly describes the output results (print method output)?

[ZML Document]

<docr<content>East<! [CDATA[ &] ] >West</content»</doc>

[SAX Processing)

Tae the following "ContentHandlerImpl™ class, and parse the XML Document using JAX.

Lzsume no exXecution errors.

clazs ContentHandlerImpl extends DefaultHandler |

public void characters(char[] ch, int start, int length) throws S4XException

IJystem.out.print (new 3tring(ch, start, length)):

b
h

A. EastWest

B. EastandWest
C. EastWest

D. East

Correct Answer: B

QUESTION 7

Push the Exhibit Button to load the referenced "XML Document". When processing the "XML Document" according to
the method shown by "SAX Processing," which of the following correctly describes the output results (print and/or printin
method output)? Assume that the processed XML Document has no indents (ignorable white space such as line feeds,
tabs, etc.).
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[2AX Proceasing]

Uze the following "ContentHandlerImpl™ clasa, and parse the ENL Documwent using 3AZ.
The SAX parser 1is namespace avare.

bssume no execution errors.

class ContentHandlerImpl extends DefasultHandler {
hoolean vigiting, date, name:

public woid atartElement |
String uri, 3tring locallame, String oi=mne, ALAttributes attr)
throws 3AXException {
if | uri.equalsi("urn:xmlmaster:VISITY) £& localMNamwe.equals ("ictcivicy™) )
wvisliting = true;
if | wisiting ) {
date = locallame.equals ("DateTime™) ;
name = locallName.edquals ("Name™) ;-
if [ locallName.edquala ("Jaokb™) |
Syatem.out.printlni attr.getValue ("Procedure™)
b
}
public woid endElement (3tring uri, String locallame, 3String oiizne)
throws ZAXException |
if [ uri.egquala{"urn:xmlwaster :VISIT™) £& locallNatwe.equals ("Actiwvity™) |
visiting = false:
if (date] {

System.out.print (" ——— ™y ;
date = false:

} oelze if (name) |
System.out.print ([ F*% )
name = false:

}
¥
public woid charactera(char[] ch, int start, int length)
throws SAZException f
if [ date || natme )
System.out.,.print | new Itringich, start, length) |;

[EML Document]
<List ¥mlns="urn:xmlmaster:LI3T">
<Date>2004-07-01</Datex>
<Worker Name="Jeff Workman"
xmlns="urn: xmlmaster: TOREER™ />
<WigitLiat>
<hoctivity xmlns="urn:xmlmaster :VISIT"
Code="0001">
<DateTime>2004-07-01 09:00</DateTime:
<Location xmlos="urn:xmlmaster i CONTLCT™>
<MName>He len Edwards</Name:>
</ Location>
<Job Procedure="Inatsll freezer™ Time="1" />
</Retivityr
chotivity xmlns="urn:¥xmlmaster :VISIT"
Code="0002 ">
<DateTime>2004-07-01 13:00</DateTimex
<Location xmlns="urn:=mlmaster :CONTLCT™>
<MName>John Smith</Nams>
</Location:
<Jalh Procedure="Install alr conditioner™
Time="z2" /=
<fhonivitys
</VizitList>
</Liat>

A. Install freezer 2004-07-01 09:00 --- Helen Edwards *** Install air conditioner 2004-07-01 13:00 --- John Smith ***

B. 2004-07-01 09:00 --- Helen Edwards *** Install freezer 2004-07-01 13:00 --- John Smith *** Install air conditioner
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C. 2004-07-01 09:00 --- Helen Edwards *** 2004-07-01 13:00 --- John Smith ***
D. Nothing is output.

Correct Answer: B

QUESTION 8

Push the Exhibit Button to load the referenced "XML Document".

[ZEML Document]
<Lizt xmlna="urn:=mlmaster:LIST">
<Datex2004-07-01</Datex
<Worker Name="Jeff Workman™
xmlns="urn:imlmaster : TOREKER" />
<VisitList>
<hctivity xmlns="urn: xmlmaster :VISIT™
Code="0001"=>
<DateTimex>2004-07-01 02:00</DatelTime>
<Job Proceduse="Instcall freezer” Time="z" /»
£Atatuss>MAITING</ Statusy
</ Botivotyx
</ WigitLists
</Liary

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.

Although the expected processing result is choice "D", processing may not occur as expected.

[DOY Processing]
Process ZML using the following method.
Locument output = createXdL( doc, imp. );

The wariahle fdnm here refrreanes the Tinrument inatance nf the Tnaded BN Dnmarnent .

The wvariable impl here references the DOOImplenmentation instance.
The DON parser is namesSpace aware.
Lzsue no execution errors.

public static Document createXML( Document doc, DOMNInplementation impl ) 4
3tring code = "OOO1™;:
Document outbtput = impl.createlDocwnent |

Turn:xmlmaster: FEEPORT™, "Eeport™, null):
Element root = output.getlocumentElement () ;
Element src = [(Element)doc.getcElementsEyTaghlamels |
furn: xm master : WOREER™, "Worker™) .item(0) ;
rcot.appendChildioutput. importMode (sre, true)):

MNocdelist nl = doc.getElemeatsByTagiamelld ("urn: xmlmsster:VISITY, "Accivicy™);
fecr (int i = 07 i1 < nl.geclengthi); i+-) |

gre = (Element)inl.item(ii
if (code.equals(sro.getiztribute ("Code™))) 1
Element elem = [Elemwenz)output.importlode (sre, true);
root.appendChild(elem)
Elenent status = (Element)elem.getilementsEyTaclame |
"Ztatus™) .ditem(0) ;
status.getFirscChild() .sectModeValue ("COMPLETED") ;
break:

}
'

Feturn output:
}
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A.

B.

C.C.C. COMPLETED

D. D. 2004-07-01 09:00 COMPLETED

Correct Answer: D

QUESTION 9

Use DOM programming to create XML according to the schema defined by NewsML (portions modified for this
guestion). Push the Exhibit Button to load the referenced "XML Document".

[XML Document]
<NewsHML:>
<MewsItem:
<ContentItem:
<DataContent></ataContents
</ Content Item:-
«/MNewsIcems:
</MNewsML>

Load the "XML Document" and update the XML according to the method shown by "DOM Processing". Select which of
the following correctly describes the results of performing a validation check on the created XML against the schema
("DTD" and "article.dtd"). Assume that "article.dtd" can be parsed normally during validation. The existence of a
document type declaration during validation is not reflected.
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[DOM Processing)
Create ZML using the following method.
Document output = createXZML (| doc ) !
The war i=glile doc here relferences Lhie Docwnenl. instance ol Lhie losded ENL Docooernl .
Lzsume no execution errors.

public static Docunent createXML | Document doc ) f
Elerent contentElement = [(Element)doc.getElementsEyTagllame |
"DataContent™) .item(0) ;
Elerent articleElement = doc.createElement | "article™ | :
contentElement..appendChild| articleElement ) ;
Text textMode = doc.createTextMNode | "3tart XML Master: Professional Exam™ ) :

art_cleElement.appendChildi textNode ) :

recturn doc:
H

[TyTT]

<!ENT.TY % article 3YSTEMN "article.dcd™-
tarcicle;

<!'ENT_TY % data " (Encoding | DataContent ) ?"=
< !ELEOENT ContentItem [ ¥datar )=

<VATTLIST ContentItem Href CDATLI #HIMPLIED >

S !ELEAENT Encoding fdata;
<1ATTLIST Encoding HNotation CDATL #EREQUIRED >

<!'ELEHENT DataContent ANT:

<!ELEIENT NewsItem ([(Contentltem®]>
<!ELEHENT NewsML (HewvsItemt) =

[article.dtd]
<!ELEHENT article (#PCDALATL) >
SVATTLIST article title CDATA EREQUIRED =

A. The created XML does not include required attributes; therefore, is not valid against the schema

B. The created XML has an illegal attribute value; therefore, is not valid against the schema

C. The created XML does not follow element type declarations; therefore, is not valid against the schema
D. The created XML is valid against the schema

Correct Answer: A

QUESTION 10

Select which of the following correctly describes the results of performing a validation check on "XML Document".
Assume that the XML parser correctly processes the XML Schema schemalocation attribute.
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[ZML Document]
<TestML =*mlns="urn:<mlmaster:cestml™
tnlna:xsi="htep:/www. w3 . org/ 2001/ XMLSchewa—instance ™
x2l:3chemalocatlon="urn: <mlimaster:testml testml.xsd":>
<record lewvel="1" data="100" />
<record lewel="zZ"™ data="z250" /=
</ TestML>

[cestml.xsd]
<x3ischema
Xmlns:xs="http://vww. w3 .org/ 2001/ ZNLSchema
targetMNamespace="urn: xmlmaster:testml™
*xmlns:tns="urn: xmlwaster:testml'>
<x2:import namespace="urn:xmlmaster:cestml”
acheralocation="record. x3d™ />
<wa:element name="TestML" type="tna:testmlType™ />
<xs:icomplexType name="testmlType'>
<HSISEequUEnCe:
<xz:element ref="tns:record" maxOccurs="unbounded" />
</ ¥3:3equencesr
</warcomplexTypesr
</ x=:schemas

[record. xad]
<¥S:schema
¥mlna:s="http: /S uww. wl . org/ 2001/ THLSchema ™
<xa:elewment nawme="record” type="recordType™ />
<xs:complexType name="recordType":
<xa:actribute nawe="level"™ type="xga:intc" Sz
<xz:attribute nawe="data" tcype="xz:int" S
</®z:complexTypes
</ w3 ischemas

A. Valid

B. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" import element

C. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" "

D. No processing error, but is not valid.

Correct Answer: B
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